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The figures in the margin indicate full marks
Jor the questions

1. TN AR 8% Tewhl R Thvear/vey oy
1x8=8
Choose the correct answer/Answer the
following questions :

(a) ST TrgeR B PR TrEd |0

Mention an indicator of economic
development.

(b) o TR GO SEIH TTEe I

State one constraint of rural
development.

16-21/370 ( Turn Over )



(2)

(c) TS WY a1 3B =

An  underdeveloped economy is
characterised by

() % wTR 2Fe SW
high per capita real income

(i) W R ¢ TR T ORI 99 Gs
large portion of labour force in the
service sector

(iii) JEE I ARAT TeormAterer

low-level of productivity of capital

(iv) SR Qb1 =
None of the above

(d) @R @R 7S FReT ogehn w9
Lewis theory is related to

(i) R =R
unlimited supply of labour

(ii) T TE T
balanced growth strategy

(ii) o B e
unbalanced growth strategy

(iv) TeRA

innovation
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(e)

(g)

(3)

T (PR OES/TRS PRI (R @ AW
& APTAIFCE R W] A AR F5TS
AT TS RS AT S Tl FA?

Which of the following theories states
that members of the labour force
compare the expected income in the
urban area with the prevailing average
rural income?
(i) Nurksel g
Nurkse’s theory

(i) Harris-Todarod =X
Harris-Todaro model

(iii) Fei-Ranis3 W
Fei-Ranis model

(iv) S*RI OIS T
None of the above

o wREeR bt I Fi o

Write one cause of rural poverty.

HaRe IREDH @ 2 IR ?

Who pioneered the microfinance
system?
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(4)

(h) TR FWCH et T TR R @S Wi
= |

Which of the following aspects is not
related to human development index?

(i) e
Education

(ii) =Y
Health

(iii) SR 4TS =

Per capita real income

(iv) e =™

Employment rate

2. S R @ GROR ek 5y G B (e
100 "”R f&s30) : 4x4=16

Write short notes on any four of the following
(within 100 words each) :

(@) @G @@ wF AR 8= I

Use of Lorenz curve and Gini coefficient

(b) &y SR ok

Scope of rural development

c) TR A TR Wil

Gandhian model of rural development
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(S)

(d) SRS a5 Sagwg wreorf

(e)

Significance of rural development
in India

I AT T
Sustainable rural development

A HPIARE Tad ot (et 500 #91 feeve)
Answer the following questions (within 500 words

each) :

3. (a

(b)
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e % T W TmEw WeR o
Rogma 3311 T T PorF @R S

w1 oo [T a3 ? 4+7=11

Describe the difference between
economic growth and economic
development. How can human
development index measure the stage
of development?

%37 /Or

WG, Sl SIF FANGF IR o] Toh
Al 341 |

Discuss the relationship between
poverty, inequality and social welfare.

11
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4. (a) AN FEFIIHE FEEAN FCAGT F9q AW

BHEwg AR A R MCFOANR SEY A1
7+4=11

Discuss the causes of rural

backwardness. Mention the steps that
can be taken for rural development.

weT /Or
(b) TTEHWES TR TN SO SN 4T |
% oG Narzerez &2 8+3=11

Discuss the development theory of
Rosenstein-Rodan. What are the

limitations of the theory?

B. (a) T WNERCTRN BHAT SHOR IF TGS
RTeE SN9TERT | 12
Critically describe the development
theory given by Nurkse.

oy /Or
(b) TFIRT o PHRER AR @RS AfSe
AR TGB! TG, SICAG F41 | 12

Critically discuss Myrdal’s theory based
on spread and backward effects.

6. (a) N THETS YR I SRF WemGT 47 |
Rk T T Qe deiRe
7 7+4=11
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(7)

Discuss the role of human resources
in rural development. How can
unemployment affect rural development?

%t /Or

(b)) TR PR 0w PR ofRe
FIRIAR W ]| G TP YT So
SRR | 2+5+4=11

What is disguised unemployment?
Analyze the reasons for disguised
unemployment. Suggest the measures
for solving this problem.

7. (o) OF W SRS W TR O3 TEAES
A 30 | 11

Make a comparative analysis of rural
development in India and China.

o3 /Or

(b) A CHER ICI SRET AT F WCHFPRZ
AT 471 11
Discuss the steps taken in India for
rural development.

*hh
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